
Poměr 
ovoce : cukr 1:1 2:1 3:1 4:1 Speciál

pro ovoce  
sladké nebo  

kyselé?
Kyselé Kyselejší Sladší Sladké

Jahody, třešně, 
višně, maliny, 

ostružiny

množství  
cukru/fruktózy  

na 1 kg ovoce
1000 g 500 g 340 g 250 g 425 g

co  je 
potřeba 
přidat?

Ovoce  
a cukr

Ovocný pektin Želírfix 
s ovocným 

cukrem

Želírfix 2:1Želírfix 1:1

Jenom  
ovoce

Želírovací 
cukr  
2:1

Želírovací 
cukr 
 3:1  

Želírovací  
cukr 4:1

Želírovací cukr 
na jahody

BIO třtinový 
želírovací cukr  

3:1

Třtinový  
želírovací cukr 4:1

Želírovací ovocný 
cukr

Jamfix 1:1 Jamfix 2:1 Jamfix 3:1


